Formulae

coshx:i, sinhx = l, tanhx:l
2 2 et 4+ e *
cosh®z —sinh®2 =1, cosh(—x) = coshz, sinh(—x) = —sinhx
2 12 . . 2tanh x
cosh(2z) = cosh” x + sinh”x, sinh(2x) = 2sinhz coshz, tanh(2z) = ———
1+ tanh® x
h2 1 h2xr —1 1
cosh2x:M, sin 2:10:M, 1—tanh2a::sech2x:—2
2 2 cosh” z
d cosh d sinh d tanh 1
COSAT _ sinh x, ST cosh z, AT _ sech?z = 5
dx dx T cosh” x

cos(A + B) = cos Acos B F sin Asin B
sin(A + B) = sin A cos B 4 cos Asin B
tan A & tan B
1F tan Atan B

tan(A £ B) =

1
cos Acos B = 5 [cos(A — B) + cos(A + B)]
1

sin Asin B = 5 [cos(A — B) — cos(A + B)]
sin Acos B = % [sin(A + B) +sin(A — B)]
cos Asin B = % [sin(A + B) — sin(A — B)]

cosh(A + B) = cosh A cosh B + sinh Asinh B

sinh(A + B) = sinh A cosh B =+ cosh Asinh B
tanh A &+ tanh B
1 &+ tanh Atanh B

tanh(A £+ B) =

cosh A cosh B = = [cosh(A + B) + cosh(A — B)]

— DN =

sinh Asinh B = = [cosh(A + B) — cosh(A — B)]

— DN

sinh A cosh B = — [sinh(A + B) + sinh(A — B)]

— DN

cosh Asinh B = 5 [sinh(A + B) — sinh(A — B)]



